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SUBJECT VERB AGREEMENT
                   REVISION
 Correct the following sentences

1. Everyone of the two boys gets a prize.
2. Each of the five men received a reward.
3 Any of the two roads leads to the
railway station.
4.None of the two guests turned up.
5. Answer anyone of the two questions.
6.Neither of the four books will do.
7. None of my two pens writes well.
8 Anyone of the two men would be able to
do this work.
9. The boys narrated stories each.
10.The students contributed fifty rupees
each.


